

問題 次の にあてはまる数を求めなさい。

① $2.07 \times 3.08 =$

② $2.25 \times \frac{2}{3} \div 0.75 =$

③ $\frac{1}{6} \div \frac{1}{4} + \frac{2}{3} - \frac{4}{9} =$

④ $\div (7 + 3 \times 6) = 4$

⑤ $3\frac{2}{3} \div 2\frac{3}{4} - 0.7 \times \frac{5}{7} =$

⑥ $6 \times 6 \times 3.14 - 4 \times 4 \times 3.14 =$

⑦ $\frac{8}{45} \times \frac{3}{4} \div \frac{2}{5} + \frac{7}{12} =$

⑧ $(0.69 - 0.47) \div \left(\frac{1}{6} - 0.13\right) =$

9 $80 \times 69 \div (47 - 35) - (58 - 3 + 1) \div 14 = \square$

13 $\left(\frac{1}{3} + \frac{1}{15} + \frac{1}{35}\right) \times \left(4 - \frac{8}{9}\right) = \square$

10 $\left(\square - 1\frac{2}{5}\right) \times \frac{7}{9} + 0.7 = 3.5$

14 $\left\{1\frac{7}{24} - \left(2\frac{1}{3} - 1\frac{1}{4}\right)\right\} \times \left(1\frac{1}{5} - \frac{2}{3}\right) = \square$

11 $10 - \left(\frac{5}{6} - \frac{3}{7}\right) \div 3\frac{5}{21} - \frac{7}{8} = \square$

15 $(6 - 1.875) \div \left(9 - \square \times 3.75\right) = 1.5$

12 $246 + 264 + 426 + 462 + 624 + 642 = \square$

問題は以上です。